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1. With such a booming market, the ABC company plans production by
30 percent in the next coming quarter.

(A) increase (B) increases (C) to increase (D) increasing

2. The unfinished building was planned to be completed by March 20.

(A) repeatedly (B) extremely (C) naturally (D) originally

3. SING city has attracted a large number of foreign businesses 1ts low
taxes and skilled workforce.

(A) as a result (B)owing to (C) not that (D) because

4, ———— The free shuttle service between the airport to the hotel i1s only
available from 6 am to 9 pm—__ the hotel’s front desk is open
round the clock.

(A)although (B)however (C)despite (D)in spite of

D. [ bungee jumping for three times. I think I am done with 1t.

(A)participate (B)has participated (C)have participated (D)have
participating
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